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1214] FFUE I )1 BT 424,000
1215 FnFrE £ HJIHT 3,498,000
1216] FFLE 3 RHT 588,000
1217 FFxE H=HT 699,000
1218] FOFRLE =1=L) 195,000
1219] O LE Eq F T 558,000
1220| FZxUE ATEAHT 1,585,000
1221 FFRLE H=JIIET 447,000
1222| FFUE =R 1,585,000
1223 FFrLE = HET 1,314,000
1224 FFRLE 9 SAHT 27,000
1225 FngrLE AR £5 B35 SR HT 978,000
1226| FOFRLUE AHhET 54,000
1227] O UE )1 BT 84,000




(Bfi:M)

= wUEE
1228| FNFRLE B AR HT 907,000
1229] BEWE Bt 22,364,000
1230, BmE XFh 35,298,000
1231] BEWE k=11l 4,577,000
1232] BmWE EEH 2,545,000
1233] BHWE =X 666,000
1234 EHE = P HT 143,000
1235 BEE 25 GEHT 168,000
1236) ERWE J\BEHT 546,000
1237] BEWE o E i) 924,000
1238 EHE L) 895,000
1239] BEWE Jt R HT 1,035,000
1240, BHWE aEM 726,000
1241] BEWE AR LLIET 978,000
1242] BHWE A SR AT 624,000
1243] BEWE EEL 420,000
1244 EHE ;LATHET 32,000
1245| BiEE T 32,722,000
1246 EiRE JEHET 4,973,000
1247] EiRE HEM 27,325,000
1248 ERE mHETH 4,800,000
1249 BiEE KHETH 1,618,000
1250 EiRE =ZXmh 2,784,000
1251 BERE PBE 431] 1,539,000
1252 EiRE e 2,211,000
1253 BiEE B HER 524,000
1254] BEiRE JI| A HT 27,000
1255 ERE i) 284,000
1256 BiRE =Xl 232,000
1257] EiRE SEFNEHET 168,000
1258 BiRE S EHT 321,000
1259 ERE g HT 54,000
1260 BEiRE 75/ EHT 36,000
1261] BiEE KA 54,000
1262 BEiRE ElTY=T0] 2,238,000
1263] [ILE [l Ll 202,301,000
1264 FEILE BE#h 129,225,000
1265 MILE T 11,572,000
1266] RELLE EEHh 5,115,000
1267] RILE FZh 3,696,000
1268] ILIE HIEH 2,799,000
1269] RILIE e n ] 9,687,000
1270 mEWLIE =2t 1,795,000
1271]  RLE R™T 1,308,000




(Bfi:M)

HHEF
R{HRELR

1272

1,796,000

1273

2,742,000

1274

4,395,000

1275

2,463,000

1276

998,000

12717

2,708,000

1278

699,000

1279

2,520,000

1280

1,436,000

1281

840,000

1282

94,000

1283

323,000

1284

915,000

1285

157,000

1286

111,000

1287

195,000

1288

998,000

1289

783,000

1290

412,943,000

1291

31,945,000

1292

3,108,000

1293

14,895,000

1294

21,732,000

1295

78,120,000

1296

2,910,000

1297

4,134,000

1298

1,929,000

1299

4,899,000

1300

61,206,000

1301

20,215,000

1302

1,352,000

1303

237,000

1304

14,122,000

1305

9,291,000

1306

2,360,000

1307

1,635,000

1308

210,000

1309

1,764,000

1310

748,000

1311

825,000

1312

474,000

1313

38,278,000

1314

34,692,000

1315

37,733,000




(Bfi:M)

g : HEEE
B TR h X ET#t 2544 R 2
1316 IWOE Fh 3,219,000
1317] WAE Vil ican 15,399,000
1318 WAE THTH 16,800,000
1319] WAE =BT 19,038,000
1320 O E Jtth 9,042,000
1321] WAgE poamiit] 2,598,000
1322 WWOE Wi h 3,450,000
1323] WAE Ehth 923,000
1324 WO Bt 33,306,000
1325 WLAOE W5 /NEFHTH 5,460,000
1326 LAE LK SH#T 222000
1327] WAE FOARHT 966,000
1328 LAE - BHHT 227,000
1329] LOE H e HT 840,000
1330 WAE A HT 657,000
1331 WAE ] 3£ HT 27,000
1332 @EEE mETh 67,913,000
1333] fEEE EF9th 7,553,000
1334 EER INAETH 3,907,000
1335| @8 Brl EE 9,798,000
1336 EEER =Sl 2,999,000
1337] EEE Bl Bz th 2,133,000
1338)] EEE EEm 1,512,000
1339 #mEE8 =¥¥th 1,119,000
1340 EEER f55 s ET 126,000
1341] fEEE _ B HT 27,000
1342 EEER 1EBRA N AT 148,000
1343 #EEEH £ FHHT 3,102,000
1344| EEE £ LI BT 107,000
1345| @8 AR & HT 48,000
1346 EBEE 2 Ik AT 54,000
1347] EEE IR HT 195,000
1348] fEEE SEISET 306,000
1349 #EH FA R BT 2,379,000
1350 fEBE Jt SHT 4,338,000
1351] @88 EE{FHT 5,319,000
1352 EEER Hx EFHT 1,167,000
1353 #mEEH _ tx HT 699,000
1354 EEER DAHEHT 279,000
1355| fEEE B AL LHET 1,036,000
1356 FIJIE =¥th 106,921,000
1357 FJIE L& 20,739,000
1358 FIIE R 7,788,000
1359] FIIE =@ 3,769,000




(Bfi:M)

= : wUEE
CISENSE X BT 254t R gE
1360 FEJIIE BHm 8,074,000
1361 FIIE SHET 3,338,000
1362 FEJIE B D o 1,848,000
1363 FIJIE =8 4,453,000
1364] &FIJIE + FEHT 951,000
1365 FIJIE NS EHT 813,000
1366| FIJIE = KHT 3,147,000
1367 FIJIE H SHT 627,000
1368 FEIJIE F &R 5,019,000
1369 FIJIE #= )1 HT 1,281,000
1370 FIIE = W7 1,398,000
1371 FIE %IRRT 1,959,000
1372 FIIE FADSHT 1,441,000
1373] =ZiEIE NG 128,332,000
1374 Zig1R 5iaTH 21,821,000
1375| =18 FHET 5,600,000
1376] ZEiEE J\I&Emh 4,691,000
1377] =ZiEE FEET 28,342,000
1378] E=iEE P& 12,926,000
1379] =8 K 3,080,000
1380 ZEEE F¥tHh 3,918,000
1381] =18 PO [E ch R 10,382,000
1382] =R mYh 1,219,000
1383] =8 B,a™h 6,915,000
1384 ZEEE + ST 239,000
1385 =ZiEIE AB SRR 4,000
1386] E=IEE FARI T 3,791,000
1387] =18 REC SR ET 1,268,000
1388] ZiglR N FHT 867,000
1389 =ZiEIE {FEHT 138,000
1390] =ZiEIE FA BT HT 18,000
1391 =ZEH 5B AL HT 638,000
1392 ZEiEE Zralr 867,000
1393] =HE = 0th 58,472,000
1394 SiE EFmh 489,000
1395| =HE T=m 942,000
1396 =HIE FEEH 5,250,000
1397] =HE TiEmh 1,386,000
1398 =%E ‘Bl th 2,458,000
1399] =HE BET 1,961,000
1400 S%0E TiEEKT 588,000
1401] S=HE mE+H 1,785,000
1402 SiE Ermth 4,451,000
1403] =HIE EEmH 1,938,000




(Bfi:H)

#RE FT IR i X HETH jﬁﬂh%%
ol EEE T R {HRERE
1405| SR % SR 143,000
1406| =H1E T 283,000
1407 =HIE & Elgﬁlr 222,000
1408 %%u ,E\ E_l E%;::r 27,000
1409 =HNE %ﬁw 27,000
1410] SE1E L 148,000
1411] =K *= 84,000
1412] =SHE iEﬁT 27,000
1413] SHE ol 116,000
1414 %%D,E\ {—:EJ”HT 1,398,000
1415] EE ':EI:HEIHT 372,000
1416] SEN1E T2 1T 489,000
1417] SHE 5 RN ET 615,000
1418] =HIE 0= 420,000
1419] =xn1E 5$§ET 54,000
1420 =SHIE 70T T 139,000
1421 =HE X H BT 1,050,000
1422] SH1E =EH 252,000
1223 =HE égﬁﬁﬁﬁ 84,000
1424 FBEE :|l:j£ = 420,000
1425 a2 =T 214,269,000
1426] fBEE j(fJEEHF_ 729,587,000
1427 fafd & R FI 10,631,000
1428] 2B Efﬂjj_ﬁ’ 77,328,000
1429  ERE R 4,800,000
1430 fE@EE 1T 15,456,000
1431]  fREE T 3,759,000
1432] fE@E NETH 8,190,000
1433 fEEE mET 5,598,000
1434] fE@E ST 4,880,000
1435  fERE =T 2,883,000
1436] fE@E Qﬁ?ﬁ 9,015,000
1437] EEE fEFEIE]F'_.I 1,308,000
1438] fE@E TNERT 3,158,000
1439 fE@EE T 10,302,000
1440 fFEEE %5 ?T-ﬁ 24,105,000
1241 =EE B 36,775,000
1442 fEEE Y= 27,684,000
1443 EEE X ;HE TE 18,864,000
1444 fE@EE - = 17,850,000
1445 f2@EE R 11,115,000
1446] FEREE 5%'@?'5 17,919,000
1447 EEE T 1,680,000
2,247,000




(Bfi:M)

= : wUEE
CISENSE X BT 4 2544 SR 4B
1448 12[ME =M 997,000
1449 &2 g™ 5,047,000
1450| taREE AEM 2,102,000
1451] f2REE o =1it] 17,295,000
1452] taREE BRI )1 T 8,214,000
1453] fEME FEHT 3,212,000
1454 12ME EED 4,788,000
1455 &8 i s T 9,798,000
1456 {EME ‘B HT 3,639,000
1457] fEME 1= BT 17,163,000
1458 t2ME A LT 2,070,000
1459 &2 FH = HT 10,458,000
1460| f2REE = EHT 1,155,000
1461 &2 7K EHT 1,639,000
1462] takEE [if]] 18 HT 4,200,000
1463 &2 1= g iy 1,791,000
1464 12[ME /NPT ET 195,000
1465 &2 55 FHT 1,090,000
1466] faf@E & ¥E) BT 1,008,000
1467 &2 TRBIHT 2,188,000
1468 12[ME RIEFT 168,000
1469 &2 K T1 5T 932,000
1470 fERIE KAHET 1,607,000
1471] fEME I )11 BT 1,959,000
1472 tEME E&EH 447,000
1473 &2 7 H HT 168,000
1474 {EHE 2 EHHET 447,000
1475 &2 J 115 BT 315,000
1476] takEE RAEHT 573,000
1477] fEME A 27,000
1478 t2ME Eh) 1,707,000
1479 &2 i1 FB 7 5,598,000
1480| taRE & H O ZHT 1,203,000
1481] {2k E B 420,000
1482] taREE L EHT 558,000
1483 &2 2 _FH 1,119,000
1484 #EER 1EEH 54,424,000
1485 (& EH EEmh 12,259,000
1486] {AER Effth 15,442,000
1487 {£EEH ZATH 742,000
1488] {kEER FEEmH 3,989,000
1489 {£EEH BT 3,792,000
1490 #EER EEth 2,324,000
1491 {£E 8 N TR 4,200,000




(Bfi:M)

= : HEEE
B TR X BT 4 254t R gE
1492] {kEER =5 3,326,000
1493 {£EE 5T 2,268,000
1494 #EER = By BT 1,399,000
1495 #EER Z LT 1,809,000
1496] {AEER I HT 653,000
1497 #EER A ROZHT 1,818,000
1498] {kEER % EHT 279,000
1499 (A& EH A HHT 1,282,000
1500 {AEER X HT BT 138,000
1501] {£8E8 ;LA HT 840,000
1502] {AEER ==t 1,398,000
1503] {£EE AEHT 611,000
1504 RIKE & 93,713,000
1505 RIBE EHET 26,626,000
1506| RIGE ElRT 4,620,000
1507 EIBE FHETT 16,686,000
1508| RIFE N o] 13,586,000
1509] EI5E ERTH 1,604,000
1510 RIZE ¥ET 2,146,000
1511] RIFE Xt ETH 2,154,000
1512 RIKE =ik 1,398,000
1513] RIFE El=nil 2,519,000
1514] RIFE figann 1,268,000
1515 RIBFE E G 2,652,000
1516 RIGE FEEETH 2,520,000
1517 ERIBE E5H 12,832,000
1518] RIKE RS2 T 4,351,000
1519] RIFE EXTEE 338,000
1520 RIKE ME T 605,000
1521] ERIFE ,&"ﬁtﬁm 815,000
1522| RIGE /MBS BT 84,000
1523 EIBE 1&/:'ET 1,493,000
1524] RIKE It R EH 922,000
1525  BEARE HEART 205,871,000
1526] HERIE J\{Xh 10,511,000
1527]  BEARE AT 3,374,000
1528] HEAXRIE REET 3,633,000
1529]  EERE Kixmh 983,000
1530 REARE EX A 6,968,000
1531 FEARE ™ 3,918,000
1532] HEARE % thh 5,040,000
1533 FEARE Ft7h 4,410,000
1534 FEEARE FX&ETH 1,647,000
1535 FEARE FHEH 4,647,000




(Bfi:M)

= : wUEE
B TR X BT 4 2544 SR 4B
1536] HERIE BrlZ% T 1,611,000
1537] HRERIE XEH 4,758,000
1538] HEARE aEm 19,080,000
1539 HRERIE EHH 515,000
1540] HREXRIE F AT 252,000
1541] BERIE 7 B T 306,000
1542 REEARE FIMET 978,000
1543 HREARIE F17K HT 37,000
1544 REEARE REET 8,834,000
1545| HERIE & [5HT 19,599,000
1546] HERIE A /M EHT 284,000
1547] BEXRIE /N EHT 420,000
1548 REAXRE ELLH 84,000
1549] HRERIE = AT 726,000
1550| HRERXRIE 78 R A 819,000
1551] EREXRIE A BRI gR 794,000
1552 REARE 1l i BT 1,398,000
1553] HEARIE =B 874,000
1554 REARE 75 35k BT 3,721,000
1555 HREARIE B {E HT 396,000
1556 FEARE LI R T 810,000
1557] HEEAXRE JKJI1I BT 615,000
1558| HEAXRIE = L HT 881,000
1559] EERIE EEKHET 84,000
1560 FEAXRE FRET 432,000
1561] HEARIE % B KRHT 643,000
1562 REARE 5 Bl AT 27,000
1563] HEARIE HEF 222,000
1564 REARE HIZYH 573,000
1565 HRERIE = JLHT 326,000
1566] Kn & Aoth 104,932,000
1567] Ko A FTH 14,287,000
1568 XHE hiEmh 8,530,000
1569] XK#oEH HHETH 4,686,000
1570 XHE =0l 6,033,000
1571] KXHoE EI#Fmh 2,826,000
1572 KHpE FEART 1,327,000
1573 XKHE i=hi 1,417,000
1574] XKHE E#=H 1,344,000
1575 XK»8B HET 1,452,000
1576] KHE F{ETh 6,102,000
1577 KHE B XEFH 1,807,000
1578 KHE Hfth 3,158,000
1579] K78 EEX 1,188,000




(Bfi:M)

= : wUEE
B TR X BT 4 254t R gE
1580 Kn & H HHT 2,332,000
1581 X&HE NLEHT 279,000
1582 KnE ﬂLcﬂiT 447,000
1583 EIHE =I5 77,857,000
1584 EIFKE ERigh 16,560,000
1585 =IFE $ERETH 14,557,000
1586 =GR HeEmh 2,535,000
1587] H=IFE INFRTH 3,266,000
1588 =GR HR™ 6,763,000
1589 EIHE b 872,000
1590 EIHE &R 2,505,000
1591 EIBE ZU0DH 1,119,000
1592 EIBE = iz HT 1,881,000
1593 EIFE = R HT 1,075,000
1594 EI/E = = fT 797,000
1595| EIGE FEHT 311,000
1596] HEIFKE = Ha T 1,538,000
1597] EIFE = By 1,100,000
1598 HEIFKE FAXBEHM 222,000
1599 EIGE A 35k HT 390,000
1600 E=IHE JII F BT 1,398,000
1601 =IFE R =T 378,000
1602] =GR 511 BT 1,539,000
1603] EIFE EIFH 4,000
1604 EIHE HEERT 168,000
1605 EIHE ) 14,000
1606] HEIFE |—1:F$..,\IHT 727,000
1607 =IFE H 32,000
1608 EIHE £/7,§EHT 138,000
1609 EREE EREH 118,559,000
1610) BEIREE BEM 8,343,000
1611] ERER T 1,959,000
1612) BIREE Pl At 735,000
1613] EIRER H Kk 4,082,000
1614 BREE fEE™ 3,787,000
1615| BRERE fic il 1,458,000
1616)| BIREE FEKT 969,000
1617] BEIRER I 11,245,000
1618)| BIREE HEmh 2,260,000
1619] ERER SR 2,379,000
1620 EIREE %‘%%Fi 21,958,000
1621] BIREE |WeEEXHFH 1,703,000
1622)| BEIREE EISeEA 1,904,000
1623] ERER Pt 2,393,000




(Bfi:M)

= : wUEE
B TR X BT 254t R gE
1624| EREE /X 2,799,000
1625 BEREE AL 2,162,000
1626] BEIREE {RiETH 1,112,000
1627] ERBEE B 5,786,000
1628] BEIREE +E5 27,000
1629] BEREE SDFEHT 1,596,000
1630 EREE R EH 369,000
1631] BERER ;B IKET 344,000
1632 BREE R I T 1,367,000
1633] EREE EEEL) 542,000
1634| EIREE 2 ST T 367,000
1635| ERER PN L 617,000
1636)| BEIREE {51 HT 354,000
1637] BEREE thi&FHT 756,000
1638 BEIREE F 2 FHT 726,000
1639] ERER EASH 420,000
1640) BIREE 365 P N ET 168,000
1641 ERER SESERET 138,000
1642| BEIREE =R 390,000
1643] BEREE 2 EfT 336,000
1644 BRER PN 188,000
1645 BEREE {1l BT 160,000
1646) BEIREE FI;HHET 579,000
1647] BERER X044 BT 153,000
1648| EERERE 5 smHT 174,000
1649] ;HflE ABETh 78,526,000
1650 HfElE BE¥FET 16,456,000
1651] piBE AiEh 3,843,000
1652 hfElE SHATH 20,378,000
1653] hiEE ZET 3,244,000
1654 HHERE o] 4.527,000
1655 hfEIE PiETh 16,447,000
1656] ;hiEE S RET 10,880,000
1657| ;hf@ElE S>5Fh 8,900,000
1658 /HhiEE ==l nil 3,834,000
1659| Bl AT 3,389,000
1660 HfEIE [EEEH 77,000
1661] ;hfElE REKH 27,000
1662 HhiEE EXD] 111,000
1663 hiEE SRz 306,000
1664 HfElE A< B T 756,000
1665 ;HhfEIE ISR 1,889,000
1666 ;HfElE H B EEAT 168,000
1667] ;hfElE £ T 646,000




(Bfi:M)

mEmR | mREe | SIS
1668] HiElE FIH 222,000
1669 p#ElE -,@::r 4,124,000
1670 HiEE = FHNET 1,614,000
1671 HiEE Jt & HT 5,628,000
1672 HiEE dt gAY 3,107,000
1673 iﬂjégyg Fh AT 8,076,000
1674] $i3lE 75 [ AT 4,032,000
1675 PiElE 5 #3 [ BT 2,226,000
1676] HiElE A JEL JiR T 5,019,000
1677] ;hfElE i =Bt 84,000
1678] HiElE A A B A 65,000
1679] HfBlE AKX EHT 550,000
1680 /HiEE J\ & hHT 2,757,000
1681] higlE Ll 237,000
1682] H#EIE 5 AR E BT 54,000

|

40,642,504,000




	（目）特例給付等交付金

